[q-éi—_rum;:q / New Syllabus J

57
FO TEI ¥ w26 ) [FWY?““"'-_?
Total No. of Questions : 26 | [ Total No. of Printed Pages :

K-202203/803-A

fww : Sha-fgm
Subject : Biology
e 2w ) [ i - 70
T:m¢ 3 boun | [ Maximum Marks : 70
fdwm () WY TS WI
Imstructions : Attempt all questions.
() IWH gfe JRATTE B, N oy MWWMI
Use diagrams or flow-charts if necessary.
(iii) W Wi 23 W 26 T ¥ yyf it fawe feg wo )
In Question Nos. 23 10 26, internal optiens aze given
Ao

tn(mtﬁMu-th1mn L D)
Instruction : (A) Qum:onNu.ltoS#-vamtvp-mEnh
quuﬁonuniulmmndmmvnmmm Weag/ 1 sentence)
-1 ZIFT W1 QU W [
Give full name of ZIFT.
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WA (gherdfres) G e ¥ fm foetfrn ) 3 A e 2

.
Which vitamin is found in more quantity in trans;.cnic golden rice?
Nif 9 farm qearefta o v wm € 2
In which microorganism Nif gene fs found ?

& O jaen ¥ waifus e fegs) o £

What are found in maximum numbers in a food chain ?

Thfeafret ferd dre = wewRw v} ?

Imter-re-ationships between which components are ecosystem ?

(1]

[1]

(1]

(1]

(W) IR FEE 6 B 10 T ey v € | vRw v W 2 3 Sl

81 (W ¥ afimen -3 0 v B)

Instraction : (B) Question Nos. 6 Lo 10 are very short answer type questions. Each

wi-6

wm-7

question carries 2 marks. (Maximum word-limit of answer is

30 words)

Q- R ?

What is Self-sterility ?

1 T v sre 3 W 2 st ey

Write any two differences between Genotype and Phenotype.

O W fsd s €

What is Retiprocal Cross ?

NM-41 A
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wH-10

e

[3)
0 geehe = 9w fafey R wedeifa oo ®fer m fE
W &1 . [1+1=2]

Name the microorganisms from which Cyclosporin and Statin are

obtained.
s fed wed €2 2]
What is Plasmid ?

: (W) WA FHE 11 R 22 T ey ¥ §) W@ v@ W 3 3% A
€1 (M 7 sfiwm w-d 50 1= ¥)

Instruction : (C) Question Nos. 11 to 22 are short answer type questions. Each

question carries 3 marks. (Maximum word-limit of answer is

50 words)

wyr-11 s wE v &7 arde v = rams ¥E-R iR R ¥ [2+1=3]
What is menstrual cycle ? Which hormones regulate menstrual cycle?

WA-12  WW F g0 & A9 2 T Fae Wi o e [1%+1%=3)
Draw a well-labelled disgram of the TS of human testis.

gva-13 e fasm € 2 v fagm & aw fafag) [1%+1%=3)
What is Down Syndrome ? Write ils symploms.

UF-14 9 T T wl w farare vy gee A O R, 7 swt wan ¥ st
) Fvwifa F) Y@ g TR, T [1%+1%=3)
When a normal female is married with a colour blind male, then
work out colour blindness in the progeny of these parents with the
help of diagram. '
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W22 &5 A% & TR & S et i b |

WA-15

W¥T-16

WW-17

WyT-18

w-19

weT-20

i-21

[4)
S it v & 2 <Al A iy ot 9 2 it fafa)  [1423)

What is gene expression ? Write two methods of genc cxpression in

bacteria.

mﬁxwﬂwwt?maﬂge‘mmg [1+2=3]

What is drug addiction ? Write its any two reasons.

ST ST 3 e w2 A Y S wor ) T A w2 [3]
Higher organisms have resorted to sexual reproduction in spite of

their complexity. Why ? p

I TR R v €2 1

i
a
What is called pene cloning 2 :

oomee -

Y WO w1 Il oy fafagy o [¥ax6=3]

Write the effect of air pollution on plants. :

mmm@mmmﬂﬁhﬂ?ﬁmﬁMI {1+141=3)
Write any three differences between primary productivity and

secondary productivity.

ﬁq-mtﬁﬂqmm|

Give any three benefits of Biodiversity,

[1x3=3)

[3]
Explain in brief the biotic factory of Grass-land Ecosystem,
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IS}
frder : (R) W i 23 DAl W #) wa w4 3% amifea ) (Tmoa
i wez-dm 75 g 1)

Instruction : (D) Question No. 23 is long answer type question. This question carries

4 marks. (Maximum word-limit of answer is 75 words)

WA-23 R el e st W A A Ry, e ) dan w fRe W

AR Tge w1 i fem, wfas samem Fifg) [2+2=4]

How does Eli Lilly American Company produce human insulin by
preparing two DNA sequences? Explain with diagram.
aar
OR

et uren sfufirn & fafv= w31 =1 afew =ren Fifw)

Explain various steps of polymerase chain reaction with diagram.
http://www.cgboardonline.com

: (V) 9 i 24 A 26 W Enfzaty v €1 YOS YW W 5 aiw SRt
¥\ (3 % sfuwm w=-vmn 150 v §)

fordisr

Instruction : (E) Question Nos. 24 10 26 arc long answer type questions. Each question
carries S marks. (Maximum word-limit of answer is /50 words)

-24 W T AR & Ay, viva ¥ woen w i i Wit
Dfucn'be Watson and Crick model of DNA with diagram.

.

OR

[2%+2%=5)

ALY, ¥ Reqor = snfwedt fafi w1 wfen 2ok 2
Describe semi-conservative method of DNA replication with disgram.

NM-41 A
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[6)
W¥H-25 mmﬁwnmﬂmﬂummwﬂmﬁmmm: [243=3]

(37) TR S
(%) fofen s
(7) T T*

Draw a labelled sketch of male f;:produclive system and write one

main function of the following parts :
(a) §ertoli cells |
(£) Levdig cells
(¢} Vas deferens

Jaar

OR

¥ W W iy e e Pyl W o e e
fafav, :

(%) ave afgh
(7 weerd (WER) :

(9) g™

Draw a labelled sketch of female reproductive system and write one
-~ main fanction of the following parts :

(@) Oviduct
(b) Fimbriae

(¢) Ovary
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[7)
W-26  Fraffan i @ g 2 0 42
(37) TREES
(%) wEofafew
(9) TR
() wafa

(3 =

How are the following diseases transmitted?

[1x5=5]

(c) Typhoid
(4) [Filariasis
(¢) Ringworm
(d) Malaria

(e) Pneumonia

Huar

OR

amye faam & foreinl ) Yereter @1 30 % Qe F Fow = W s @
Mzma ST gFm t? | [2%+2Y%=5)
In your view what motivates young stars to take alcohol or drugs and

how can this be avoided?
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A Mdem:26) 020000 [ T gfka v #t e : 7
Total No. of Questions : 26 ] - [ Total No. of Printed Pages : 7
- K-202203/803-B
fawg : Se-fagm
*  Subject : Biology
wE:3we] - ' [t : 70
Time : 3 hours | [ Maximum Marks : 70
| Fer : () wft v wl | |
-~ Instructions : Attempt all questions.

(if) Emﬁﬁmﬁ,ﬁﬁﬁ_m’tmﬁﬁwm%m
Use diagrams or flow-charts if necessary. .
(i) e i 23 9§ 26 7% ¥ el ¥ stiaf fawey Rgmed)

\ In Question Nos. 23 1o 26, internal options are given.

._-.ﬁe.’gr:. (@) mm1ﬂswmmtlmmm1mm
_ Py &) (SRR sifemm w-d 1 w1 ) i

ANy

| Iunrﬂction ¢ (A) Question Nos. 1 to 5 are very short answer type questions. Each

question carries 1 mark. (Maximum word-hmxt is 1 word/1 smtmce)
-1 Glﬂmwmm| @ -[1]
Give full name of GIFT. |

NM-41 B | ~ PTO.
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forcr

(3]

v (W) wE Wi 11 ¥ 22 TF THSU0E WE €| Tlw W W 3 3w mife,

§) (TR F almamqwa—'sﬂm 50 W=z §)

Instruction : (C) - Question Nos. 11 to 22 are short answer type questions. Each

W1

w-12

w14

question carries 3 marks. (Mmummn word-lumt ot‘ answu. is

parturition? ) - -'

o et S S ¥ i e & iR e e [1%+1%=3]

Draw a well-labelled diagram of LS of a typical angiqg_penp ovule.

mmwa?mﬂammn [1+2=3]

What is Phenyl Ketonctma ? Write its main reasons.

mﬁﬁhﬁﬁ%ﬂﬁﬂﬂﬁﬂﬁmw%ﬁm% T IEE

mﬁﬁﬁﬁlﬁﬁﬁwaﬁmﬁlaﬂmﬁml c o [1%+1%E3)

When a haemophlhc carrier woman is mamed with normal man,

then explain the inheritance of haemophilia with the help of diagram.

i fafmg ¥ § ? T0& AT SR

[1%+1%=3]
What is Gene Exchange ? Gwe lts lmportmces.
mmmmnmmammu N 1 £ o)
What is Psychotropic Drug ? Write any two examples.

S TR e e e o [1%1=3)

What is Tissue Cylture 2 Write its objectives.

NM-41B

e

P.T.O.

50 words)
s Y2 T ¥ e 0 F -2 S e ¥ 2 o [42e3)
What is-Parturition ? Which hormones are inyol\{ed in induction of


https://www.studydiscuss.in

[4]
T-18 9 ¥ T ¥ 7 o e fafag) [1%+1%=3]

What is Gene Bank? Write its significances.

TE-19 G WY 1 HFE W e fafag) [Vax6=3]

Write the effect of sound pollution on human being.

IR=20 Wt W O fiditaen weuen i i o fafera) [1x3=3].
Write any three differences between primary pollutant and
secondary pollutant.

wvT-21  du-fafavm ¥ el & 9 99 wnw fafeg [1x3=3]

Write any three causes of extinction of Biodivel;sity.

w22 9 % aiteufes 93 o suftwa dfas swel i ol Fifaw 31

Explain in brief the biotic factors of forest ecosystem.

rder : (%) WA FHi 23 eIl I 1 W W W 4 30F A €) (Iw
firwam - 75 7 ®) |
Instruction : (D) Question No. 23 is long answer type question. This question carries

4 marks. (Maximum word-limit of answer is 75 words)

we-23 e Rl AT SRR w3 AT, Sl w) R e e
HE TR i R, wfes smen Fitig [2+2=4]
How does Eli Lilly American Company produce human insulin by

preparing two DNA sequences? Explain with diagram.

NM-41 B
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(5]
Srerar

OR

dieftte sfwen sl & R v W wfes =men Wt

Explain various steps of polymerase chain reaction with diagram.

féer : () W Wi 24 ¥ 26 7% STy we T WEE TE W 5 3iF AN
tl(wm"ram\m-m'zsamt)

Instruction : (E) Question Nos. 24 to 26 are long answer type questions. Each question
| carries 5 marks. (Maximum word-limit of answer is _!50 words)
WgS-24 oUW O 1 AIRRA St w1 Wril 1 O wew s fafe : [2+3=5]_
(37) W@ s http :/fM.cgbomdonline.com
(%) fafen ffeed
('\:T) e s \
Draw a labelled sketch of male reproductive system and write one

main function of the following parts :
(a) Sertoli cells
(b) Leydig cells

(©) Vas deferens

amfd 41 R PTN
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[6]
arerar

OR

B W o T AR e S 9 W S0 e W
fafa :

(31 e afeh

(%) weadt (WRR)

(/) s
Draw a labelled sketch of female reproductive system and write one

main function of the following parts :
(@) Oviduct

(b) Fimbriae

() Ovary

WT-25 Wﬁﬁﬁ?%ﬂ.ﬁ.ﬂ,ﬁ!ﬂﬁﬁﬁmmmﬂ;ﬁﬂﬂml [2¥4+2%=5]

Describe Watson and Crick model of DNA with diagram.

raar

OR

BT ¥ fem « srefaeet fafe =1 wfes avis s
Describe  semi-conservative method of DNA replication

with diagram.

NM-41B
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W-26  Frafiifan i e 4 B e 2

(7]

(37) Tmwme
() wafAfed
(7)) TR

(3) waR@

(%) =pEfw

How are the following diseases transmitted?

(@)
()
()
(d)
(e)

mﬁﬁanﬁﬁ!ﬁﬁ‘wamqn%ﬁm%mﬂmm#

Typhoid
Filariasis
Ringworm
Malaria
Pneumonia

rerar

OR

sﬂzwﬁﬁwwaﬁ‘.&?

In your view whgt motivates young stars to take alcohol or drugs and

how can this be avoided?

..........

NM-41B
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AR A uwn 26 | | F& qfea 7 ¥ wew 7
total Nov ol Questions 26 ) [ Total Nov of Prnted PPages ?
K-202203/803-C
faaa . fa-fagm
Subject : Biology
R 3w | qofs : 70
Time : N hours | | Maximum Marks © 70
frdm : (i) vt wA ra Ffor
Instructions : Atempt all questions

Gi) I afe sravas ©, @ fert s rerfet | anrm Sifig)
Use diagrams or flow-charts if necessary.

i) T WEIE 23 W 26 W ¥ Al ¥ ymafre faweg g g €
In Question Nos. 23 to 26. internal options are given

fdwr . () YA % 1/ 5 7% AfeEaia vE ) s v WO e anifea
t 1 (3w ¥ e w=-dm 1 T/ 1 T.\)

Instruction : (A) Question Nos. 1 10 § are very short answer type questions. Each
question carries | mark. (Maximum word-limit is | word/] sentence)

gm-1  IUCD ® 0 7w fafa [
Give full name of IUCD.

NM-41C P.T.O.
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wi-4

e

12]
el & g 2 e ¥ w ey Patii=1)
Name any nwo breeds of fish. |

T W WA AR I 'R e R o vgedt €2 (m
How much energy is transferred from one trophic level to another
trophic level?

wmﬂfkﬁu(@ﬂ)mmwﬂmt_? (1]
What is second trophic level of a pond?

i A farmfom wm %1 v an wonfin 1 am fifarg (1]
Write name of semi-dwarf species of paddy developed in India.

2 (F) T 6 R 10 7% Afreedy v €1 Q% vE W 2 o smitE
¥ 1 (W T sHfermem v~ 30 v §)

Instruction : (B) Question Nos. 6 to 10 are very short answer type questions. Each

w-7

wN-8

question carries 2 marks. (Maximum word-limit of answer is

30 words)
W 2 [2]
. What is Prepotency ?
WA 3T 3 T 3in ¥ st fefae (¢ 2 [141=2]

Write differences between Homologous organ and Analogous organ
(any two).

v w1 € ? | 2]
What is Nucleosome ?
IR @ ®fe 3 v fafe) [1+1=2]

ert_emonyclonpm-hmdSnﬁn
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» 3]
,m-m Ti wnfos R we 2 |

, . [2]
* What is called Ti Plasmid ?
P : (W) mmnFn%nmmWhuMIuﬂnmm
tn(mﬁuﬁmm—mmmh

Instruction : (C) Question Nos. 11 to 22 are short answer type qnatmm Each

question carries 3 marks, (Maximum word-limit of answer is
50 words)

-1 MWt?wﬂmmmt? [2+1=3]
What is Amniocentesis ? Write its advantages.

WeT-12 HFS YERTY] &1 Twifea e s | | [1%+1%=3]
Draw a labelled diagram of human sperm.

‘wys13  TedfeRrm w42 se e wom fafer M wm dmAdRm T [(2+1=3)
What is Haemophilia ? Name the sufferer Royal family of this discase.

uT-14 nwﬁmﬁ%mmmw%ﬂmtmmm
# suiven #t dwumfa # venfe ¥ s [1%+1%=3]
When a carrier colour blind woman is married with colour blind
‘man, then explain the inheritance of colour blindness with the help
of diagram. -

WE-15 Y 06T T DNA 91 wosa Jn €2 | L [1%+1%=3)
~ What are Proof-reading and DNA repairing?

w16 maﬂnﬁ'w.jk?mﬂmml | g 't§+2-3]

What are Sedative Drugs ? Write their two effects, =

NM-41 C . o el
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[4)
w17 e WA T 2 e waete g L1423
What is Callus Culture ? Give its technique.

U¥H-18  FRIC S 7 § 2 76 T AR fm £ ? [1%+1%=3]
What is Organic Agriculture ? What is its basis ?

WA-19 W YRR F Hwol H fafew) , [Vax6=3]

Write the causes of water pollution.

WA-20 TR @ v § it s fafag [1+1+1=3]
Write three differences between litter and detritus.

w-21  S=-fafava & dem ¥ R fafae (F8 #9) ) [14+1+1=3]
Write the objectives of conservation of Biodiversity (any three).

WyA-22 e & Wifdeafaes @ § Sufera Sfaw aewi @ dfkm quin St (3]
| Explain in brief thé biotic factors of pond ecosystem.

frdr : () W Hoi% 23 SrIai 79 ¥ 1 T TH W 4 3w et §) (Sma
Sifeshad w=Z-Wm 75 W= )  hitp://www.cgboardonline.com
Instruction : (D) Question No. 23 is long answer type question. This question carries

4 marks. (Maximum word-limit of answer is 75 words)

UyT-23 el ferett e smft w3 Q) S, SEEl ) TR R e e |
T e 1 i fma wfe= =ren it [2+2=4]
How does Eli Lilly American Company produce human insulin by
preparing two DNA sequences? Explain with diagram.

raar
OR

oieiea sfaen afufra ¥ fafim w@ = wfes =men sifa)
Explain various steps of polymerase chain reaction with diagram.

NM-41 C
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e

5]
: (§) 7 Wi 24 R 26 W dntata wer §1 TS W s st i
¥ 1 (W N sfewmm we-sdim 150 w2 t)

- Instruction : (E) Question Nos. 24 to 26 are long answer type questions. Each question

WT-24

carries 5 marks. (Maximum word-limit of answer is /50 words)

Prafefen Wi = dew A dar ¢ ? [1x5=5)
(37) aywEE

() wafdfew

(7)) T}

(?) wafen

(9) =it

How are the fnﬂowhg diseases tmmmttﬂd"’
(a) Typhoid

(b) Filariasis

(c) Ringworm

(d) Malaria

(e) Pneumonia

OR

A faar | fevRl 91 teela 31 30 F ¥ & fag v e s
R FATNNTFHE? [2%+2%=5)

* In your view what motivates young stars to take alcohol or drugs and

how can this be avoided?

NM-41 C
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a5

w¥I-26

16]
wze T fivw BT WEE B e W why aol wifgy [2%+2%S5)
Describe Watson and Crick model of DNA with diagram.

Jraar
OR

AL ¥ foom #i anfanedt fafy =1 wfes T i)

Describe  semi-conservative method of DNA replication

with diagram.

9 W 43 w1 mifea S@ e fo owmi W@ 0w v w9

fafen 2-3=3]
(37 wereh Fifewnd

(7) fafen s

(8) & Ses
Draw a labelled sketch of male reproductive system and write one
main function of the following parts :

(a) Senoli cells
(b) Leydig cells
(c) Vas deferens

OR

ot I 1 W Amifes @ TR ol ¥ o oy e

(a0 Zvg Al

(w) weerl (WeR)
(%) SABAY

NMd3 C
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(71
Draw a labelled sketch of female reproductive system and write one
main function of the following parts :
(@ Ovi duct

(» Fimbriac

(¢) Ovary
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() e

(?) = =™

Realization profit is credited in partner’s which account?
(a) Bank A/c.

(b) Capital A/c.

(c) Revaluation A/c.

(d) LoanAlc.

ot fra TR N defa d?
What type of asset is Goodwill?

$oft v fazs Afva sinmimwa 2
In which side of balance sheet capital reserve is shown?

1y
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wyeagol Prder : () wE-Tx @ vl F feafa 8— (), (%) @@ (|))

Important Instructions : Question paper is divided in three Sections—<(A), (B)
and (C).

(i) W (37) F vt v va FE A €
All questions of Section (A) are compulsory.

(iif) g (A) @ (|) ¥ A i W U wvE 7@ wn
Solve any one section from Sections (B) and (C).

(iv) Y% TvE & ot vel & I @ § R ® ol
¥

Write all answers of each section in same place.

(v) fvwam w-dm w1 v fad Agifrer wai % fag 8
Maximum word-limit is only for the theoretical questions.

NM-43 A P.T.O.
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(2]

WUE-( 31 ) / Section-(A)

Wt Gt war sl % fong Srate
(Partaership Firms and Company Accounting)

Prdor : WUE-(H) & ot v aft vhwfeld & forg st € v waim 1 A 6
T e eda A ¥ s v W1 i Pl §) s e w1 I
1 1 1 AR | A A At v ot €

Instruction : All questions of Section-(A) are compulsory for all students. Question
Nos. 1 to 6 are very short answer type questions carrying 1 mark each.
Answer these questions in / word or / sentence and also include objective
type questions.

TFre WA
Objective type questions :
WH-1  URER W0 & v F Al ¥ am-eRi s R e - (1]
(3 ot arqura o '
(#) =M e
(®) w9F s &
() Q=
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-2

In the absence of Partnership Deed, profit/loss is distributed among
partners :

(a) in capital ratio

(6) in sacrificing ratio

(c) inequal ratio

(d) None of these

s FarftR € :
(37 ward

(%) o

(9) d9es

() A o et


https://www.studydiscuss.in

